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#communityslowalong #swistitchpink2021

A (8) 3.5"x 2" rectangle

B (16) 2" square

Block is 6.5"
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1. Place a B square on the right end of the A rectangle. Sew across the
diagonal. Trim 1/4" away. Press towards the triangle corner.

2. Place another B square on the left end of that rectangle. Sew across the
diagonal. Trim 1/4" away. Press towards the triangle corner.

3. Trimto 3.5" x 2" rectangle. Repeat for all A rectangles.

4. Sew two flying geese rectangles together with points heading the
same way. Press away from the point. Repeat so you have 4 blocks.

5. Place the four blocks together with the flying geese pointing outwards.
Sew two blocks together to make a row. Sew the two rows together.

6. Trim to 6.5" square if needed.
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